Honors Precalculus						Name:
Chapter 3 Test (S-2014)
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image6.png
In the diagram of the unit circle, what is sin 87

d)

“l%




image7.png
Find the numer;

al value of cos (~F).
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Given P(7. 3) on the terminal side of 6, an angle in standard position, find:
(1) sin 0
(2) cos 6
(3) tan 0
(4) cot 6
(5) sec 6
(6) csc 6





image9.png
Given f(x) = -sin(x(x - 3)), find:
(1) Amplitude

(2) Midline

(3) Period

(4) Phase shift




image10.png
Sketch the graph of f(x) in question 9. Label appropriate points.




image11.png
Tn which quadrant does the terminal ray of a standard position angle of Jr radians
lie?
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>0, then the terminal side of § may

lie in what quadrant(s)?




image13.png
Tf both sinx and cos x decrease when 1 is increased, then x is in quadrant
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If the point P(—4,1) is a point on the terminal side of angle @ in standard

position, then what is the exact value of cscf?
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What is the period of the function y = 2sin 207




image16.png
Determine the period of the function:

Lsin(—m)

v
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1f y = f(x) has a period of 6, then y = f () has a period of ___

a)k b)2 )3 d)12 e)18
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As z increases from 180° to 360°, cos

a)increases b)decreases

c)increases, then decreases d)decreases, then increases




image19.png
Express as an inverse function the value of  for which 2v/T— cosz — 1=0.
a)arccos 3/4 b)arccos 1/4 ¢)arccos 1/2 d)arccos 3/2
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Solve: cosx = /3 — cosa, where 0 <z < 27, Show all work.
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y . 1 .
How many solutions does sin’ = 3 have over the interval 0 < 7 < 277
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What is the amplitude of the function y = wsindz — 37
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The graph shown has the form y = asinz +d. What is the equation?

) y=8sinz +12 b) y=dsinz +12 X
¢) y=8sinz+4 wd) y = dsinz +8
) y=8sinz -4
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Which of the following is an equation having an amplitude of 2 and a period of 67

P 3 2
a)y =2cos :‘ b)y:2(m$ )y =2c0s = =

+ d)y =2cos ©)y = 2cos(3nz)

J




image25.png
Solve for x over the interval [0, 27):
—V2+ 2sine =0

Show work.
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Solve for x over the interval [0, 27):
sects — 2secr =0

Show work.
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About twenty ye

ars ago, the Department of Natural Resources came up with this

cquation to model the fish population in a lake:

F

337 —61 - cos (F¢)

In the equation, ¢ is the munber of months since January 2000 and F is thousands

of fish.
a) Deseribe how the fish population changes over time. Include maximum and
minimum values of the population and when they occur, the periodic nature
of the population and a graph of the model.
b) Tn 2003, the Department of Natural Resources started collecting data on the
fish population. The data is shown here
Year 2003 2004 2005 2006 2007 2008 2000
TFish Population 276 276 271 266 261 236 251
(in Jamuary)
Notice that the population started decreasing over time. What model best
describes the fish population beginning with ¢ = 0 for January 20047
<) Using the new model, project the maximum and minimnm populations of fish

in the year 2020.
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Sketch the graph and find the equation that best describes the situation:
A pebble is caught up in the tread of a car tire. The pebble is 4 inch off
the gromd when it is closest to the ground. At a speed of 35mph the
fifteen-inch-radius tire completes approximately 6 revolutions per second.
Show the height of the pebble (from the ground) over time.
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A Ferris wheel with diameter 48 feet makes one revolution every 3 minutes. The
center of the Ferris wheel is 28 feet above the ground. Suppose the riders get
on the ride at the 6 o-clock position. What is the height of a rider after 1
minute?  Show all work.
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What is a radian?
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Convert /18 to degrees. Show work. Reduce final answer.
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Convert 120 degrees to radians. Show work. Reduce final answer.
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Find an angle between 0 and 2mthat is coterminal with 117/4.




